 Red  Year 4       Arithmetic Questions		Name:			
	1) Round to the nearest 10 
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	9) 672 x 6 =
	10) 839 x 5

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	11) 765 x 8 =
	12) 361 -337 =
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	16) 6581 - 3373 =

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



	17) 8885 – 5478 =
	18)   77 ÷ 5 =
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HONESTY:

	1) 137= 140
	2) 667 = 670

	3) 998 = 1000
	4) 5323 = 5320

	5) 6381  = 6380
	6) 3555 = 3560

	7) 45 x 9 = 405
	8) 46 x 7= 322


   
	9)  672 x 6 = 4032
	10) 839 x 5= 4195

	11) 765 x 8 = 6120
	12) 361 -337 = 24

	13) 740 - 428  = 312
	14) 300 - 134 = 166

	15) 7832 - 5649 = 2183
	16) 6581 - 3373 = 3208


  
	17) 8885 – 5478 = 3407
	18) 77 ÷ 5 = 15r2

	19) 71 ÷ 3 = 23r2
	20) 54 ÷ 4 = 13r2

	21) 82 ÷ 4 = 20r2
	22) 74 ÷ 6  = 12r2

	23) 86 ÷ 4  = 21r2
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